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Section A (30 marks)

. A patient was rushed to a hospital having fractured her femur distally while cycling on
a static bicycle. Upon further investigations, the patient was found to have
hyperparathyroidism. Which of the following statements is true.

a. The patient was hypercalcemic due to increased bone resorption.

b. The patient experienced increased phosphate reabsorption.

c. The patient decreased myosin and actin action due to reduced calcium.

d. None of the above.

. An ultramarathoner seen panting heavily and hype ting was given a plastic bag

to blow in and out. What could be the possible reason fo rtaking this measure.
a. Possible PH imbalance resulting in re

b. Possible PH imbalance resulti

. A patient being managed for i ed to drain

contents of the pleural cavity.

b. Increased ventricular contraction due to increased atrial pressure in mitral stenosis
as per the frank-sterling mechanism.

c. Indication for left coronary artery stenting.

d. Acute attack by streptococcus pharyngitis.

. During a routine checkup, a patient reported chest pains with activities such as

walking up a flight of stairs to his apartment on the third floor which disappears with

rest. This is known as:

a. Unstable angina.



6.

10.

11.

b. Stable angina.

c. Intermittent claudication.

d. Heart failure.

Keeping the patient in question 5 in mind, what test is the physician likely to start
with.

a. Stress test

b. Balloon angioplasty

c. Refer to physiotherapy for exercise.

d. Give nitroglycerine.
A solution similar in concentration to plasma that will no cell damage is;
a. Hypotonic

b. Isotonic

c. Hypertonic solution
d. Interstitial fluid
During wound healing, a sc e circumference
of the wound was observed d ccumulation. Which type of

wound closure occurred?

keloid

tics is the study of what the drug does to the body

c. Pharmacodynamics is the study of how the drug is absorbed in the body.
d. None of the 3
Which of the following statements is true

a. Hypophosphatemia presents with Chvostek sign.

b. Hypercalcemia presents with trousseaus sign.

c. Polyfilament sutures have high memory.

d. Polyfilaments have an increased proclivity to inflammation.

A patient being treated for hypokalemia ended up having refractory hypokalemia.
What could be the reason.

a. Hypomagnesemia



b. Increased potassium supplements
c. Increased muscle cramps and twitches.
d. None of the above

12. A patient being assessed for coronary artery disease reported to his physician of right
shoulder pain radiating down to the side of the right arm which is present at night
without exertion. Which statement is correct about the patient.
a. The patient is exhibiting symptoms of unstable angina.

b. The patient is experiencing paroxysmal nocturnal dyspnea.

c. The patient is experiencing orthopnea.
d. The patient is experiencing shoulder pathology unr to the heart.
13. If the said patient in question 12 is to un ass, which vein and
artery is unlikely to be used grafting.
a. Mammary artery
b. Saphenous vein
c. Cerebral artery
d. All of the above

14. spiration.

15.

be created in transposition of great arteries to allow for
d to receive oxygenated blood.
¢ tumors do not exhibit gender preference
d. Benign tumors tend to occur after the fourth decade of life.
16. Which TNM classification has the poorest prognosis?

a. TONOMO
b. T4N3M1
c. TANIMO
d. T3NIMO

17. “N” in the TNM staging stands for:

a. Necrosis



18.

19.

20.

23.

b. Normal

c. Node

d. Number

Which of the following statements is true regarding effusions:
a. Transudates contain low levels of proteins.

b. Transudates are clear

c. Exudates are cloudy

d. All of the above

What are the potential complications of total paren
a. Sepsis

b. Intestinal atrophy

c. Metabolic complications
d. Social implications of dietary r

Which of the following stat

rapy before surgery and are more likely to

after surgery.

of energy metabolism.

. A group of clinicians were conducting research to establish the prevalence of atrial

septal defect. W of the following types of ASD are they likely not to encounter in
this region.

a. Ostium secundum type

b. Ostium primum type

c. Sinus venous type

d. Trabecular septum type

According to timelines after transplantation, graft rejection can occur in the following
ways except:

a. Hyperacute



b. Hypoacute
c. Chronic
d. Hypoacute
24. A surgeon performing thoracotomy is observed making an incision on the superior
border of the rib. What could be the reason for this approach:
a. To prevent large hypertrophic scars from happening
b. To avoid damaging the neurovascular bundle.

c. To prevent paradoxical breathing from happening

d. To prevent allergic reactions to anesthesia
25. Which of the following statements about congenital he isorders is incorrect.

AV canal VSD is also known as inlet

causes an obstruction to blood
c. The most common surgi i res standard
cardiopulmonary bypas i otomy approach.
d. None of the above
26.

27.

Subclavius
28. Which anions belong to the intracellular compartment.
a. Chloride
b. Sulfate
c. Bicarbonate
d. Phosphate
29. Which of the following is untrue about fluid deficit in the body:
a. Oliguria

b. Decreased skin turgor



c. Weight loss
d. Distended neck veins
30. Thoracoscopy:
a. Is aprocedure used to look at the space outside of the lungs.
b. is a procedure a doctor uses to look inside the lungs.
a procedure a doctor uses to look inside the mediastinum

d. aprocedure a doctor uses to look at the upper GI

Section B. Short Structured questions. Answer all the questions. (20 marks)

1. After confirmation by biopsy, a lung cancer patient, i undergo surgery. what

3. A patient previously being manag i i drainage is

experiencing recurrence. Th i i i . re the two

4.
5 f fallot? (4 marks)
6 the thoracic region. (3
7.
8.
Section C. Long . Choose 2 of the questions (20 marks)

1. a. Outline the ophysiology of coronary artery disorder. (8 marks)

b. state two appr: es that could be used in managing coronary artery disorder. (2

marks)
2. a. outline the phases of wound healing. (6 marks)
b. State and define two ways wound closure occurs. (2 marks)
c. state and define two types of scars. (2 marks)
3. state and define four types of ventricular septal defect and the pathophysiology. (10

marks)






